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1.
Introduction
During the PDCP teleconference (Sept. 18, 2007), an issue was raised regarding whether the status report should be based on the outcome of header decompression, or on the status before header decompression.
In [1], LG assumes that the status report is based on the outcome of header decompression, which is debated. Other companies believe that a decompression failure is not expected to occur in the typical scenario, thus the alternative would be to include the status before header decompression.
An e-mail discussion was triggered to discuss the contents of the PDCP status report, but no agreement was reached.
2.
Status of off-reflector discussion

As a start-up, LG provides one document [2] to explain the scenario that the correctly received PDCP PDUs could be lead into decompression failure. Thus, in [2], LG insisted that though they believe the scenario may be rare, but is a realistic scenario, and therefore PDCP status report should be based on decompressed packets after header decompression.

Ericsson argued on LG’s scenario that it is a very aggressive optimistic scenario in that context updating information is repeated only once. They believe, in typical case, the context updating information is transmitted multiple times, and therefore the decompression failure is unlikely to happen. Thus, they don’t see any reason that the PDCP status report includes the outcome of the decompression process.
LG re-argued on Ericsson’s argument that even the failure probability is low, we can’t avoid the decompression failure at all in reality. They believe that as ROHC is a kind of black box that the internal parameter can not be touched, and therefore the repetition number of the context update information could be set to 1. 

LG also asked to Ericsson that what the Ericsson’s proposal is if they don’t want to include the outcome of the header decompression into PDCP status report.
Qualcomm agreed that creating PDCP status report after decompression covers only a rare error case, but they think it would be beneficial to cover as many error cases as possible.

Samsung pointed out one issue in SN reporting after decompression that a transmitter can not discard a PDCP SDU even if all the corresponding segments have been acknowledged by RLC.

After all, no agreement was reached, and this issue is left open for further discussion at the next meeting.
3.
References
[1] R2-073259 PDCP Structure and Traffic Path, LG Electronics Inc.

[2] R2-07xxxx Contents of PDCP Status Report, LG Electronics Inc. 
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1.
Introduction


During the PDCP teleconference (Sept. 18, 2007), an issue was raised regarding whether the status report should be based on the outcome of header decompression, or on the status before header decompression.


In [1], LG assumes that the status report is based on the outcome of header decompression, which is debated. Other companies believe that a decompression failure is not expected to occur in the typical scenario, thus the alternative would be to include the status before header decompression.


This document aims to trigger the discussion on this issue and get a common understanding of the scenario and the implications.



2.
DL handover scenario
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[Fig.1] Example of DL handover



An example scenario for DL handover is shown in Fig.1. The procedure in this figure is as follows.


1) Up to SDU#0 are correctly received and acknowledged by UE.



2) Source eNB transmits SDU#1~SDU#5 to UE, where SDU#1 and SDU#4 are context update packets (e.g. IR packets), and SDU#2, SDU#3, and SDU#5 are compressed packets.


3) Among SDU#1~SDU#5, all except SDU#1 are correctly received by UE. The correctly received SDUs are stored in RLC buffer because RLC supports in-sequence delivery of PDCP PDUs.


4) Handover occurs while the SDU#1 is under retransmission.



5) Source eNB forwards all the not yet acknowledged PDCP SDUs to Target eNB. Here, we assume that SDU#2~SDU#5 are not yet acknowledged. Then, the Source eNB forwards SDU#1~SDU#5 to the Target eNB in this example.



6) Meanwhile, UE RLC delivers all the correctly received PDCP PDUs (i.e. SDU#1~SDU#5) to UE PDCP.



7) In the UE’s header decompressor, decompression of SDU#2 and SDU#3 fails due to the missing reference context. But SDU#4 and SDU#5 are successfully decompressed and delivered to PDCP reordering buffer.



We believe that the scenario in Fig.1 may be rare, but is a realistic scenario, and therefore we believe we have to decide on whether ACKs/NACKs are based on decompressed or non-decompressed packets.


3.
UL Handover Scenario
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[Fig.2] Example of UL handover



Similar situation as in DL is assumed in Fig.2, the difference being the direction of radio bearer. Note that SDU#2 and SDU#3 can not be forwarded to Target eNB because it was agreed that only the uncompressed SDUs are forwarded. Thus, for Target eNB to indicate decompression failed SDUs as ACK, special signalling is needed from Source to Target eNB.
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